2019-02-19 B

5 bord, 10 par. Antal spil: 27. Middel: 108.

Slutresultat
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Navn

Birthe Skjoldborg N. - Birgit Troelsen
Tove Nielsen - Lisbeth Juhl

Lillian Immerkjeer - Vini Veldike
Tove Borre - Jette Andersen

Ruth Andersen - Birthe Moeslund H.

Birthe Nielsen - Inger Lise Hoyer
Erik Greve - Kirsten Petterson
Ulla Jorgensen - Lissi Mikkelsen
Knud Jeppesen - Grethe Larsen
Bente Hansen - Else Hansen

M-ID

48 47
50 49
29 30
32 31
37 38

40 39
10 41
58 4
5 6
15 16



Slutresultat

2019-02-19 B

5 bord, 10 par. Antal spil: 27. Middel: 108.
Spil: 1 Spil: 2
Par Kontr Resultat Point Par Kontr Resultat Point
3436 3U N +1 430 80 3436 2« V +2 -130 71
3532 2¢ N +2 130 4 4 3532 24 N -2 200 08
3733 5¢ N -2 -100 0 8 3733 2& V 13 -150 35
3938 3¢ N+2 150 62 39038 1« V +3 -130 71
40 31 2U N -1 50 26 40 31 2U V +1 -150 35
Spil: 3 Spil: 4
Par Kontr Resultat Point Par Kontr Resultat Point
3436 4 S = 420 80 3139 5« O = -600 08
3532 2« S +2 170 4 4 3537 44 O +1 -150 35
3733 2« N +1 140 26 36 33 34 O +2 -150 35
3938 2U V -4 400 62 3834 34 N+1 170 71
40 31 4ex S -2 -300 08 40 32 3a N +1 170 71
Spil: 5 Spil: 6
Par Kontr Resultat Point Par Kontr Resultat Point
31 39 4¢v N -2 200 17 31 39 44 S -2 -100 17
3537 2« N +3 200 80 3537 24 S -1 50 62
3633 49 N -2 200 17 36 33 3a S -1 50 62
3834 2¢ N +2 170 62 3834 3a S -1 50 62
40 32 2« N = 110 4 4 40 32 44 S -2 -100 17
Spil: 7 Spil: 8
Par Kontr Resultat Point Par Kontr Resultat Point
3231 1a V -2 200 62 3231 2U S = 120 71
36 38 3U O -1 100 4 4 36 38 2U S -1 -50 35
3734 2« S -1 -100 26 3734 2% S -1 -50 35
3935 3« V -3 300 80 3935 2U S = 120 71
40 33 4v N 4 -400 08 40 33 24 N -2 -100 0 8
Spil: 9 Spil: 10
Par Kontr Resultat Point Par Kontr Resultat Point
3231 2¢ N -2 -100 62 3136 3¢ V -1 100 71
36 38 1U O +2 -150 08 3332 2¢ V +1 -140 26
3734 2« V = -110 35 3739 2« V +1 -140 26
3935 4ex V -1 200 80 3835 1v O +2 -140 26
40 33 2¢ V = -110 35 40 34 4 O -1 100 71

Krepo Odense



2019-02-19 B

5 bord, 10 par. Antal spil: 27. Middel: 108.

Slutresultat

Spil: 11 Spil: 12

Par Kontr Resultat Point Par Kontr Resultat Point
3136 4v N -4 200 08 31 36 3¢ O +1 -130 71

3332 2¢v N -1 50 53 3332 49 V +1 450 26

3739 2« N -1 50 53 3739 3U V +2 -460 08

3835 3v N -1 50 53 3835 3¢ O +1 -130 71

40 34 2« N -1 50 53 40 34 3U O = -400 44

Spil: 13 Spil: 14

Par Kontr Resultat Point Par Kontr Resultat Point
3237 46 S = 620 71 3237 24 N -1 -50 44

3433 24 S +3 200 26 3433 1U V -1 50 80

3831 460 S = 620 71 3831 34 N -3 -150 08

3936 3a S +2 200 26 3936 24 N -1 50 44

40 35 3~ S +2 200 26 40 35 24 N -1 50 44

Spil: 15 Spil: 16

Par Kontr Resultat Point Par Kontr Resultat Point
3237 5¢ O = 400 26 3137 3U N 4 200 08

3433 3v S -2 200 62 3338 3U O -1 100 80

3831 6¢ O -1 50 80 3534 2v O = -110 53

3036 5¢ O = 400 26 3932 1v V +1 -110 53

40 35 S5¢ O = 400 26 40 36 2v V +1 -140 26

Spil: 17 Spil: 18

Par Kontr Resultat Point Par Kontr Resultat Point
31 37 3¢ V2 -150 4 4 31 37 24 N -1 -100 26

3338 5¢ V +2 -440 08 3338 2¢ N = 90 4 4

3534 1a V +1 -110 62 3534 2U N = 120 71

3932 2¢ S = 110 80 3932 2U N = 120 71

40 36 S5¢ V = 400 26 40 36 2U N -2 200 08

Spil: 19 Spil: 20

Par Kontr Resultat Point Par Kontr Resultat Point
3133 2¢ N = 110 80 31 33 3& V +1 -130 62

3238 3v N -1 50 44 3238 2 O +2 -170 35

3439 4¢ N -1 50 44 3439 4 O = -620 0 8

3635 4v N -2 -100 0 8 3635 2v O +2 -170 35

40 37 4¢ S -1 50 44 40 37 3U O -2 200 80

Krepo Odense



2019-02-19 B

5 bord, 10 par. Antal spil: 27. Middel: 108.

Slutresultat

Krepo Odense

Spil: 21 Spil: 22

Par Kontr Resultat Point Par Kontr Resultat Point
31 33 3¢ N -1 -100 26 3234 2« N +2 170 62

32 38 2& O +1 -110 0 8 3339 3U N -1 50 17

3439 2« O -2 100 80 3531 3U S -1 S50 17

36 35 1U V -1 50 53 3736 3U S +1 430 80

40 37 44 O -1 50 53 40 38 24 N = 110 4 4

Spil: 23 Spil: 24

Par Kontr Resultat Point Par Kontr Resultat Point
3234 24 N +1 110 4 4 3234 3U O = -400 08

3339 1lv V +1 -110 08 3339 3¢ O -2 100 80

3531 1a O -2 200 80 3531 3U O -1 50 62

3736 1U N +1 120 62 3736 2U O = -120 35

40 38 44 N -1 -100 26 40 38 2U O = -120 35

Spil: 25 Spil: 26

Par Kontr Resultat Point Par Kontr Resultat Point
3335 44 N = 420 80 3335 24 N -2 200 35

34 31 S5ax N -1 -100 0 8 3431 1a N -1 -100 62

3632 5¢ V -3 300 62 3632 34 N -3 -300 08

3837 54 N -1 50 26 3837 24 N -2 200 35

40 39 S5« O -1 100 4 4 40 39 2o N = 110 80

Spil: 27

Par Kontr Resultat Point

3335 3v O = -140 26

3431 2¢ O = -110 44

3632 2v O +2 -170 0 8

3837 3¢ N+1 130 80

4039 3¢ N = 110 62



